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96. Production and cost data for the month of February for Process A of the Packer manufacturing
Company follow:

Units in process, February 1
(100% complete with respect to materials;

25% complete with respect to conversion cost).... 2,000
New units started in process .......ccoeevvcvennnnieecinnenas 8,000
Units completed.......ccooieiiviiniinmniiineniniene s 7,000

Units in process, February 28
(100% complete with respect to materials;
1/3 complete with respect to conversion cost)....... 3,000

Work in process inventory, February 1:

MaAterialS.. ..o voiieereiierre e $600

CONVEISION...ciiieieerriemrie et s e e seesarsnesrresseessesnsnnes $100
Costs incurred in February:

Materials iSSUd.......ocvveiiiiiiiirre e e $2,560

CONVETSION...ccciiritrireiiiertessteeennenieessaessneesraessesssnesrees $1,500

The company uses the weighted-average cost method in its process costing system.
Required:

a. Calculate the equivalent units and cost per equivalent unit for February for materials and for conversion
costs. (Carry calculations out to the nearest tenth of a cent.)

b. Determine the cost transferred to finished goods.

c. Determine the amount of cost that should be assigned to the ending work in process.



PROCESS COSTING
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a. Materials Conversion

Units transferred to the next department.............. 7,000 7,000
Ending work in process:
Materials: 3,000 units X 100%......c.coerveeervincrinns 3,000
Conversion: 3,000 units X 1/3 ....ccocovvivnviinviveeennnn. 1,000
Equivalent units of production ..........cccccoovvevveennenn, 10,000 8,000
b. Materials Conversion
Cost of beginning work in process inventory ........ $ 600 $ 100
Costs added during the period.......c.coconmrvriveriiernines 2,560 1,500
Total .cost (A)suumsmmmmmmmmsin i $3,160 $1,600
Equivalent units of production (b) .......cccccccvvininnn 10,000 8,000
Cost per equivalent unit (a) = (b).cocceervvvvcncnnnns $0.316 $0.200
Materials Conversion Total
Units completed and transferred out:
Units transferred to the next department (a).........cccceceenene. 7,000 7,000
Cost per equivalent unit (b) ....cccccoviviincnneiininnsniiniinne. $0.316 $0.200
Cost of units completed and transferred out (a) x (b)......... $2,212 $1,400 $3,612
[ Materials Conversion Total
Ending work in process inventory:
Equivalent units of production (3).......cccoovvneccvrnirrncnnenne 3,000 1,000
Cost per equivalent unit (b) ....ccccoeeeviiiiniiininiis $0.316 $0.200
Cost of ending work in process inventory (a) X (b).....c........ $948 $200 $1,148

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 04-02 Compute the equivalent units of production using the weighted-average method
Learning Objective: 04-03 Compute the cost per equivalent unit using the weighted-average method
Learning Objective: 04-04 Assign costs to units using the weighted-average method

Level: Hard



97. Assurer Inc. uses the weighted-average method in its process costing system. The following data
concern the operations of the company'’s first processing department for a recent month.

Work in process, beginning:

Units in Process ......ccvvevveeveveninieccnicrnsecenne 300

Percent complete with respect to materials....... 80%

Percent complete with respect to conversion.... 70%
Costs in the beginning inventory:

Materials COSt ..vvivimimiiiiiriireeceece e $1,368

CoNVersiON COSt. s $8,064
Units started into production during the month.. 11,000
Units completed and transferred out..................... 11,000

Costs added to production during the month:
Materials CoOSt . umumsmnnsmimmmmnrms s $64,948
COoNVErsion COSt......ccvvviririvirirereeeeierierersrnneeererneeeens $412,179

Work in process, ending:

URItS I ProCess ..o 300

Percent complete with respect to materials....... 80%

Percent complete with respect to conversion.... 10%
Required:

a. Determine the equivalent units of production.

b. Determine the costs per equivalent unit.

c. Determine the cost of ending work in process inventory.

d. Determine the cost of the units transferred to the next department.
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Weighted-average method:

Weighted-average method:

a. Materials Conversion
Units transferred to next department.... 11,000 11,000
Ending work in process:
- Materials: 300 units X 80%.................. 240
Conversion: 300 units X 10% .............. 30
Equivalent units of production............... 11,240 11,030
b. Materials Conversion
Cost of beginning work in process...... $1,368 $8,064
Cost added during the month.............. 64,948 412,179
Total COSt....oovimmiiiiiniinicciene e $66,316 $420,243
Equivalent units .........ccocoecenvvvirnnecninneen. 11,240 11,030
Cost per equivalent unit .........c.coveennee. $5.90 $38.10
c. Materials Conversion Total
Ending work in process:
Equivalent units of production............ceeuveuene 240 30
Cost per equivalent unit..........ccccocvvininnnenn $5.90 $38.10
Cost of ending work in process inventory...... $1,416 $1,143  $2,559
d. Materials Conversion Total
Units completed and transferred out .... 11,000 11,000
Cost per equivalent unit ..........c..ccoevnnen. $5.90 $38.10
Cost of units transferred out................... $64,900 $419,100 $484,000

AACSB: Analytic

AICPA BB: Cntical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 04-02 Compute the equivalent units of production using the weighted-average method
Learning Objective: 04-03 Compute the cost per equivalent unit using the weighted-average method
Learning Objective: 04-04 Assign costs to units using the weighted-average method

Level: Medium



109. In November, one of the processing departments at Shelp Corporation had beginning work in process
inventory of $27,000 and ending work in process inventory of $21,000. During the month, the cost of units
transferred out from the department was $311,000.

Required:

Construct a cost reconciliation report for the department for the month of November.

Costs to be accounted for:

Cost of beginning work in process inventory ... $27,000

Costs added to production during the month* 305,000

Total cost to be accounted for.......coccevvveeuveennenn. $332,000
Costs accounted for as follows:

Cost of ending work in process inventory......... $21,000

Cost of units transferred out ........cccceervvvvenennee. 311,000

Total cost accounted for.........cccovvvrvveviivinnenennnn. $332,000

* Plug figure

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 04-05 Prepare a cost reconciliation report
Level: Medium
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